
 
Ex2.5.2
a 2 2 7 4

résoudre 2 27 4 0 D 494.2141 81

Mr 7F y a 5 412,4

factoriser 2 2 7 4 IIHF A 4 2 11

d 6 2 25 25

résoudre 6 2 25 25 0 D 2524.61251 1225 352

Mz 25f35 f 5 4 15

factoriser 6 25 25 FÊTE 45116 5

d 6 2 20 20

résoudre 6 2 20 20 0 D 2014.6.20 8040

5
factoriser 6 2 20 20 n'estpasfactorisable



EX2.5.3

à X 9 0

PR 4311 37 0

YEE 5 4 3

b 4 21 0

PR 12 1112 11 0

2 110
YEE et 5 4 1
d 424 91 21 0

GR 1 2111 21 9 O

1 211 11 O

t tu 5 42in
d 1 2 611 5 O

SP 1 211 371 5 O

I I Is 5 4 5 2 3

e 5 2 4 0

y X 0 92 59 4 0

SP y 411911 0

12411 2 11 0

PR IAZUXZIXAIX 11 O
E K Ii te s.tl t z



f X
NXIfsjfisable.pede ZéroY Sept

gl
3 2 4 4

GR Rtx 4 4 O

XIAN 41 11 0

PR XIX 41 0

1 111 276 2 O

I Is is 5 4 11 2,2
hl 29 44 31 0

À D 41 31 0

GR 1 3111 3743 0

1 371 11 0

ç te 541,3

j B 12 2 X 2 0

GR 21 21 1 2 0

PR 1 211 2 1 O

1 216 111 1 O

I I te 5 f 2 1,1



E 2.5.4

al 1 28 1214 213 0

SP A 611 21 2B O

Éeurtripie S 2,2 6

b 4 371241 0

PR 1 376 211 2 O

ta ta 5 f 2,43
c F 242 44 8

113 2 2 4 8 0

GR 21 2 41 2 O

1 271 2 41 O

1 211 214 21 0

1 2121 21 0

Ébiel 2 5 4 2

d 12 43 11 122 4 112 0

PR 12 73 11712 2 4 113112 43 11 122 4 113 0

14 2 X 2 2 3 1 2 44 11
MEE 414 1 7 27 0

thy Ip 5 40,4 7



d NX21 1 371 21 0

MEE 1 271 1 37 O

6 2712 37 0

À biz 542

f 6
2 3 3 724

3 316 4724 0

3 3 6 2 724 0

MEE 3 1 12 241 0

SP 3 1 611 4 O

to to I spore 4

gl
3 3 2 9 27
313 2 9 27 0

GR 21 3 91 37 0

1 371 2 9 0

PR 1 311 311 31 0

1 3121 31 0

doublet
05 4 3


